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Find the value of 'C' round your answer to the nearest hundredth.

1)

C
6

2

36 + 4 = 40

√40 = 6.32

2)
C

2
6

4 + 36 = 40

√40 = 6.32

3)

C

6

10

36 + 100 = 136

√136 = 11.66

4)

C
8

9

64 + 81 = 145

√145 = 12.04

5)

C3

2

9 + 4 = 13

√13 = 3.61

6)

C

9

9

81 + 81 = 162

√162 = 12.73

7)
C

1
3

1 + 9 = 10

√10 = 3.16

8)

C
10

1

100 + 1 = 101

√101 = 10.05

9)

C3

8

9 + 64 = 73

√73 = 8.54

10)

C
7

4

49 + 16 = 65

√65 = 8.06

11)

C

10

10

100 + 100 = 200

√200 = 14.14

12)

C

7

3

49 + 9 = 58

√58 = 7.62

Answers

1. 6.32

2. 6.32

3. 11.66

4. 12.04

5. 3.61

6. 12.73

7. 3.16

8. 10.05

9. 8.54

10. 8.06

11. 14.14

12. 7.62
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